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K XZ 2 xx K2 XZ xxx

t x x I 1

E E I see xxx

x x 1 l
x z t l l

Trinomial 2 2 102 8 a a it 1
x x i i 1

21 2 521 4 x x I 1 1

21 1471 11 4 2 14 12
Binomial
product K 14712K 12 212 2 172 6

Factored
2124471 1

2K 147122 13

Fully factored 21 12 2 3
Fullyfactored

when a 11 this does not work well
negatives are messy
negative area doesn't mean anything

I X 2 2 8 16
2 2 82 12K 8

8 t I 6 2x x 47 21 4

l 16 7 4 2 2

z 8 2 x 4 att
4

21 2 3 4
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zfx 4 att

x 3 3 1 5 2 5 2 10
1 7 3 4 5 t 2 7

3 2 X 3 1 522 52 22 12

x 3k D 113K l 5212 17 212 1

3x 1 x 17 2 1 52 12


